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TOTAL | MEfZ | TOTAL NET | 7 TOTAL | IEfZ | TOTAL & NET
HH i A |
381 1 | 394 | 4
| | 1 ‘
KE 4 OUT IN | TOTAL |HDCP| NET K 4 OUT | IN |TOTAL |HDCP| NET
=R I = 36 | 35 71* 0 |710 E B B = 38 | 35 73 * 12 718
i1l & 38 | 37 75 % 12 738 x B 1B 17 41 | 36 77 * 36 (734
E-CON 25| 38 | 39 77 * 48 722 X B B * 39 | 41 80 * 48 752
B T B B & 39 39 78 *| 6.0 |72.0 KK i 41 39 80 *| 7.2 728
r % 53 37 | 43 80 *| 24 (776 = H 5 44 | 40 84 * 96 744
BE # = = 42 | 42 84 6.0 |78.0 % K WM x 4 @ M 85 72 1718
| f
TOTAL | JlEfz  TOTAL NET TOTAL JIE{Z ;TOTAL' NET
MAEEIF | T4 |
388 2 399 5
K 4 OUT  IN |TOTAL HDCP| NET K £ OUT | IN TOTAL HDCP NET
b5 A | E 39 | 35 74 % 12 1728 g % = 34 | 41 75 *| 36 714
B Woo— 40 | 35 75 * 1.2 738 w B OB 39 | 4 80 * 48 |75.2
B o /g - 40 | 39 79 *| 48 742 t E E & 39 | 42 81 * 72 738
SEEYH 40 @ 39 79 *| 48 |74.2 #H H E A X 40 | 41 81 * 6.0 750
AR MR 41 | 40 | 81 * 84 726 z K &€ 42 | 40 | 82* 72 748
m B 45 | 39 84 | 96 744 X & ¥ = 40 | 44 84 | 60 780
| - . |
TOTAL | JIEff TOTAL | NET TOTAL JEfZ TOTAL NET
KHEE BAEELL 5
394 3 | 401 6 365.01 1
\ 1
K 4 OUT  IN | TOTAL HDCP| NET K £ OUT | IN |TOTAL HDCP NET
X B = 38 | 40 78 *| 60 720 z ® B B 35 | 42 77 * 36 |734*
E H# E L+ i 40 | 39 79 *| 48 |74.2 t B § B £ 40 | 38 78 * 36 744%
E @3 B — 39 | 40 79 *| 36 |754 X B8 #H - 40 | 39 79 *| 60 |730%
fin 2 E = 42 | 37 79 *| 6.0 730 5 % H & = 41 | 41 82 *| 6.0 |760*
m o £ X % 40 | 39 79 *| 36 754 8 B B R O# 44 | 41 85 *| 6.0 |79.0
moox B 40 | 40 80 36 764 I8 R B = 41 | 44 85 | 16.8 |68.2*
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TOTAL | IEfZ | TOTAL NET TOTAL JEf TOTAL NET |
FHE A
401 7 3780 10 412 10 3732 5
i
K 4 OUT| IN |TOTAL HDCP NET K % OUT | IN |TOTAL HDCP NET |
X B # B 39 | 39 78 * 36 |744% w0 — = 39 | 40 79 * 48 |742%*
E &2 W — BB 40 | 38 78 * 1.2 |768* fifd BE I 42 | 39 81 * 36 774
x & B B 41 39 80 *| 36 |764%* oW JT 44 | 39 83 * 06 |734*
A B B X 41 | 40 81 * 60 750* & H B 5B | 44 | 40 84 * 72 768%*
 HF #H = 39 | 45 84 * 72 768 oW EOER 43 | 42 85 * 120 |73.0*
i OB H B — 4 | 41 85 96 [754%* 5 A ®Z *x 43 | 46 89 | 132 758*
TOTAL§ IEfZ  TOTAL @ NET TOTAL L K TOTAL | NET
AR BB 1| |
409 8 376.6 9 418 i1 3700 2
K 4 OUT | IN |TOTAL|HDCP| NET K & OUT | IN |TOTAL HDCP NET
E O O8 B 1T 41 | 38 79 *| 48 (742*% b R 5 4 4 82 *| 84 736*
E 4 Bi 40 | 39 79 * 60 (730* & O B I 43 | 39 82 *| 72 |748%*
a i & 40 | 4 81 * 24 786* 2 B B X 46 | 37 83 * 84 |746*
B W BA 41 | 44 85 * 108 742*! /N B W — 44 | 39 83 * 96 734%*
B K i 40 | 45 85 * 84 1766* & R E 1T 44 | 44 88 * 144 736*
g OB B * 54 | 44 98 | 16.8 81.2 B XK Bi 45 | 45 = 90 | 144 (756
|
TOTAL JBfz | TOTAL | NET TOTAL | JE{ | TOTAL NET |
B3A i
409 9 3730 4 418 12 3784 11
K 4 ouT IN ‘_TOTAL HDCP| NET K % OUT | IN TOTAL HDCP NET
7 H = 39 40 @ 79 * 36 754* B H #H 5 38 38 76 *| 24 736%
= &t & E 41 | 39 | 80* 72 728* | B B — 39 | 41 80 *| 60 740*
[ A & f1 = 39 | 42 81 *| 48 |76.2% fr A E B | 43 | 43 86 * 48 |81.2*%*
N B - R 43 | 40 83 * 84 746* X & M A 45 | 43 88 * 156 |724*
oKX g = 43 | 43 86 *| 120 74.0* g #® A 47 @ M 88 *| 108 |77.2*
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TOTAL | JEfZ | TOTAL NET TOTALj JEH | TOTAL | NET
mARR BB |
423 13 3764 8 454 | 16 3744 6
| |
K 4 OUT | IN |TOTAL |HDCP| NET K 4 OUT | IN |TOTAL HDCP| NET
H A 38 39 77 * 36 734% =R [T S 41 | 46 87 * 13.2 |738*
- 5 42 41 83* 96 734% B X B X 49 | 41 90 *| 132 | 768*
=2 z B 44 | 42 86 * 6.0 /80.0 E B ¥ x 47 | 45 92 ¥ 192 728*%
= B A - 43 | 44 87 *| 120 |750* £ A ® 46 | 46 92 *| 12.0 1800
% K B = 45 | 45 90 *| 12.0 78.0* " B E B 49 | 44 93 *| 16.8 76.2*
X B B = 46 | 45 91 | 144 |766% wm & % A 46 | 48 94 | 192 |748*
TOTAL  JEfz |TOTAL NET
Q)
424 14 (3724 3
|
K 4 OUT | IN |TOTAL|HDCP| NET |
# B = - 40 | 39 79 * 48 742%
F B B = 41 | 42 83 % 84 746*
+ @ A 43 | 42 85* 96 |754*
&8 B & - 43 | 44 | 87 * 144 726*
B & B 46 | 44 | 90 * 144 756*
TOTAL | JEfI | TOTAL | NET
V45
431 15 3756 7
K 4 OUT | IN TOTAL HDCP! NET
m =\ # = 43 | 41 84 * 48 792
7 # B =z 44 | 41 85 * 132 |71.8%*
£ W # % 40 @ 46 86 * 12.0 740*
g K B = 47 | 40 87 * 108 |76.2*
% B X 17 44 | 45 89 * 120 |77.0*
A 48 | 43 91 | 144 |766*




